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Tlme. 3 hours Max Marks 75 .
Note:" This questlon papcf Contains fwo parts A'and B = ' o
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
" Part B consists of 5 Units. Answer any one full question from each unit. '
= wBach qucstion carrigs: 10 marks'and mayzhave a, b,iezas sub questions. & B BER
Part- A
xxxxxxxxxxxxxxx I Merks)
%% 1.a) #What ardthe advanfages of seléctive ass*embly" L =% 2] o B8
b)  Differentiate between tolerance and allowance. - 131 ,
s .c) lee the classflcatlon of sine bars. : 2] _
d L e B s omm
e) 'Why cast uea isa preferred ma urface plates and tables? 21 : '
) What are the uses and specifi of tool maker’s microscope? [3]
g)  Whatis the difference bet ture and secondary texture?  [2] | ‘
h) #¥8tate theipossible clhiises typ‘es of irregiifarities foiind in surface
texture. - ;; [31 ‘
‘ i) What instruments are gener: it tests? [2]
) | : e gue L7 maw - ey
: , &
’ AN
i . ,
G gm 20 zGive theggompleté<gla
| examples.
3. Describe the prmc1pa1 eature of International standard system of hg:&ts and fits for -
- :zzaagcrewed Work. B bt B B B % [10] a2 By

4, Design the general type GO and NOGO gauge for a component having . .
& f8 fisFundamental deviation of ‘f {shaft = ~5:5 D% 25mm falls

in the dlametcr step of 18 and 30. Take wear allowance as 8% of the gal_l_ge A
tolerance and determine: (a) type of fit (b) a]lowance ' [5+5] _ :
“ag poe) s R sk OR . e . Y gy
% 5.a) ’““’Descnbe ’bneﬂy the spirit levei What “are the fa '*'t(‘)rs that determme ﬂle accuracy or
~ sensitivity of a spirit level? Give typical uses of spirit level. =
' What are the advantages of bench micrometer over a hand Imcrometer‘7 [5+5 ]
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' Dlscuss thc pnnc1p1es of NPL ﬂatness 1nterferometer

‘What is optical flat and what are its uses? : - [5+5]
........ OR |

‘‘‘‘‘ #8Ketch afidexplainiiie use of ¥ito collitiftor for siifightnessiheasurenicht? B E
Sketch and explain the working of tool maker’s microscope? [5+5]
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8.2) Explain the construction and working of a Proﬁlograph for surface roughness
measurement? . : - Ty

b) Calculate the Ra value of a surface for which sampling length is 8 mm, the graph was

drawn to a vertical magmficanon of 1000 and the areas above and below. the datum line

were: o [5+5]
Above: 70 80 %165 B%5 nn%%- B s
Below:80 100 170 140 = mm?®

OR .

9. a) ,HWhat are different orders of surface 1rregulant1es‘?Bxplam

2t

b) A rectilincar pen recording ‘of a diamond turned surface is shown in figure. The
' samphng length used was 0. 8mm and the V / H magnification ratio was 5000 / 100.
' [5+5]

60 115 96 92 109 70 mm?
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